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	2016/12 New Cisco 400-151: CCIE Data Center Written Exam v2.0Exam Questions Updated Today!Free Instant Download

400-151 Exam Dumps (PDF & VCE) 122Q&As from Braindump2go.com Today! 100% Real Exam Questions! 100% Exam Pass

Guaranteed! 1.|2016/12 New 400-151 Exam Dumps (PDF & VCE) 122Q&As Download:

http://www.braindump2go.com/400-151.html 2.|2016/12 New 400-151 Exam Questions & Answers:

https://1drv.ms/f/s!AvI7wzKf6QBjgTGwhbcWvLDn5gQS   QUESTION 81Refer to the exhibit. Which outcome of this

configuration is true? A.    Fabric interconnect can view neighbor switchesB.    It displays cisco UCS central on the UCSM portal

pageC.    It enable call home polices to take effectD.    It enable the CIM xml SERVICE Answer: A QUESTION 82Which options is

achieved by enabling FabricPath? (Choose 2) A.    Loop prevention and mitigation without the use of spanning-treeB.    Layer 2

multipathing in the Fabricpath networkC.    Single control plane only for multicast trafficD.    Decreases the mobility and

virtualization Answer: ABExplanation:

http://www.cisco.com/c/en/us/td/docs/switches/datacenter/sw/6_x/nx-os/fabricpath/configuration/guide/b-Cisco-Nexus-7000-Series-

NX-OS-FP-Configuration-Guide-6x/b-Cisco-Nexus-7000-Series-NX-OS-FP-Configuration-Guide-6x_chapter_010.htmlThe

FabricPath feature provides the following:  Allows Layer 2 multipathing in the FabricPath network.  Provides built-in loop

prevention and mitigation with no need to use the Spanning Tree Protocol (STP).  Provides a single control plane for unknown

unicast, unicast, broadcast, and multicast traffic.  Enhances mobility and virtualization in the FabricPath network. QUESTION 83

Which Four options are part of Cisco ONE Enterprise cloud suite product portfolio? A.    Cisco Open SDN ControllerB.   

Application Policy Infrastructure ControllerC.    Cisco Intecloud Fabric for bisnessD.    Cisco UCS DirectorE.    Cisco Prime Service

CatalogF.    Cisco Virtual Application Container Services Answer: CDEF QUESTION 84Which IETF standard is the most efficient

messaging protocol used in an IoT network? A.    CoAPB.    SNMPC.    HTTPD.    MQTT Answer: A QUESTION 85How do your

preprovision a Cisco UCS chassis? A.    Associate a service profile template to the chassis.B.    Configure server pool policies for the

chassisC.    Associate service profiles to each slot.D.    Select preprovision from the general menu of the chassis. Answer: C

QUESTION 86Refer to the Exhibit. If you inspect a CXLAN packet at point 2, which teo opitons about the outer fielfs in the

VXLAn header are true? (Choose 2) A.    Outer S-Mac = MAC-A; Outer D-MAC ?MAC-BB.    Outer S-MAC ?MAC 1; Outer

D-MAC = MAC-4C.    Outer S-IP = IP-A; Outer D-IP = IP-BD.    Outer S-IP = IP-1; Outer D-IP = IP-4E.    Outer S-IP = IP-1;

Outer D-IP = IP-2F.    Outer S-MAC ?MAC 1; Outer D-MAC = MAC-2 Answer: DF QUESTION 87Refer to the exhibit. After you

deploy a service profile form a template, you encounter these two errors. Which action is needed to resolve this issue? A.   

Associate the service profileB.    Install an operating systemC.    Reset the server in the server general subtab.D.    Remove the

server from maintenance mode.E.    Associate a vNIC template to the service profile template. Answer: B QUESTION 88Refer to

the exhibit. IRD is configured as shown on a cisco nexus 7000 switch, why is ping to VIP address still not working? A.    VIP must

be from the same subnet as the ingress interfaceB.    Fail action is set to the wrong mode.C.    To ping VIP, you must add a probe to

the device group.D.    This behavior is normal. Answer: C QUESTION 89Which description of how to enable the Flex Flash

Controller auto-sync function on the B200M4 blade is true? A.    configure a storage policy for FX3SB.    enable auto-sync in the

servers  Inventory  storage subtabC.    Configure a storage connection policy to use auto-sync.D.    Configure a local disk policy for

FlexFlash. Answer: B QUESTION 90Which two options are functions of the 6LowWPAN header? (Choose 2) A.    IPv6 header

compressionB.    Cyclic redundancy checkC.    Layer 3 encryptionD.    Limit the lifespan of the packer (TTL)E.    Packet

fragmentation and reassembly Answer: AE  !!!RECOMMEND!!!  1.Braindump2go|2016/12 New 400-151 Exam Dumps (PDF &

VCE) 122Q&As Download:http://www.braindump2go.com/400-151.html 2.Braindump2go|2016/12 New 400-151 Study Guide:

YouTube Video: YouTube.com/watch?v=17-eCNdml4Y
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